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Briefly describe the overall shape of each distribution. Two or 3
points are marked on each curve. The mean and the median are
among them. For each curve, which point is the median and which
9. What is the probability of observing between 100 and 150 point is the mean?

cars on the road in an hour?
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The Standard Normal Table

The standard normal table is a table of areas under the standard
normal curve. The table entry for each value of z is the area under the
curve to the left of z.

The scale for SAT math exam scores is set so that the
distribution of scores is approximately normal with a mean
of 500 and a standard deviation of 100.

Table entry for z s
the area under the

a) What is the median SAT score for math? ettty
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Tables l T3

Probability

Table entry for z is the
area under the
standard normal curve
tothe left of z.

TABLE A

Standard normal probabilities (continued)
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1. What is the percentile associated with a z-score of 1.37?

.47/
2. What is the percentile associated with a z-score of -0.737?
23.27/.
3. What is the z-score associated with the 95th percentile?
6°,
2 =/.65 a®

4. What is the z-score associated with the top 25%7?. y
z=.67 -7%°° ] R

5. Find the two z-scores such that the middle 60% o{the normal
curve is between the two z-scores.
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What do you have to score on the math
part of the SAT if you want to be in the 85th
percentile? The SAT is approximately
normal with a mean of 500 and a standard

deviation of 100. -“C’E
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In 2007, the Major League Baseball batting average was .255 with a
standard deviation of .043 and it was normally distributed. If a hitter
wanted to be in the top 10% of hitters in the league, what would their
batting average have to be?
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